It
Ea
>
12
02

Al Nl A

20109 T 204 LEEIH GEIIEHUL ~ GEIIEHHALY
SN EIIEE A
o oY Y =X 2S ®N
Cel: ¥HEE =T (e & &
- _ _ ME
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
HAJIEm M 139,275,963 132,157,123 7,118,840
2 97,382,553
pJ 2,814,491
= 448,625
= 38,630,294
GldslY L =X 25 T 139,032,913 131,947,588 7,085,325
2 97,362,553
pJ 2,814,491
2 448,625
= 38,407,244
AHHE =3 1,307,532 1,405,960 98,428
= 32,332
= 1,275,200
RB=Y 29 70,000 70,000 0
307 2I2+0| A 70,000 70,000 0
04 QIHHAIE X 70,000 70,000 0
OR2ey 29 70,000
HAZ2IIGHA X 28,332 30,000 1,668
= 28,332
308 XHXIEHXI SOl 28,332 30,000 1,668
= 28,332
01 IXNSHBAEES 28,332 30,000 1,668
OWMZF2IIEHA N 28,332
= 28,332
HEFIjge 29 990,000 1,100,000 110,000
306 £012 990,000 1,100,000 A 110,000
01 212 990,000 1,100,000 110,000
OWM™HINLR 2 990,000
HEEMEZS X2 4,000 4,000 0
2 4,000
307 2I2+0| & 4,000 4,000 0
= 4,000
04 QI2FHAIE X 4,000 4,000 0
O MERS X2 4,000
= 4,000
HEZMAR =X &S 215,200 201,960 13,240
201 ger2g 25,200 11,960 13,240
01 At22eldl 25,200 11,960 13,240
OWMIIE HUALEX AT L 25,200
203 ZRF| 10,000 10,000 0
03 AIEZHREZY| 10,000 10,000 0
OcieII =z MYe = 10,000




32s 58 (9 &e
_ _ - MEg
N Z3 . CA(ZAH) - MPAY - BES (il & OH Om/?o” Hlws2
307 21210|H 180,000 180,000 0
02 BIHHABE 180,000 180,000 0
O0l8LH=EXIAIY X 180,000
SASIEO = 1,397,793 776,740 621,053
= 777,400
2 416,293
< 204,100
Holfg X2 488,293 500,000 AT11,707
g 416,293
= 72,000
308 XiXIEHHISOIH 488,293 500,000 AT11,707
= 416,293
= 72,000
01 IXESHBAREES 488,293 500,000 A11,707
OClgoeifLdl 2% 488,293
2 416,293
= 72,000
X1 01 44 Q1 & XH 2l O 2 & A4 51 X 2 50,000 41,000 9,000
= 25,000
< 25,000
307 212H0|H 50,000 41,000 9,000
= 25,000
= 25,000
02 BIIFABE 50,000 41,000 9,000
OOl = Ttal iy 2435 X2 50,000
= 25,000
= 25,000
AL HAR A 823,680 186,000 637,680
= 752,400
< 71,280
308 XtXIEHHISOIH 823,680 186,000 637,680
= 752,400
= 71,280
01 IXSHBAREES 823,680 186,000 637,680
OBYHHOY YA 823,680
= 752,400
= 71,280
HASEO RE 35,820 49,740 ~13,920
307 212H0|H 31,500 31,500 0
02 BIIFABE 1,500 1,500 0
OF=0ILUe &It B4 1,500
04 BIZIBALEE 20,000 20,000 0
OZL0430IS U3l 20,000
05 QI2tPIEra 10,000 10,000 0




S B CPEPET R TE=PN
|

Xl
HH: OlasAHY o =X 2E ®

&2 AR EN 2 (el &)
SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS
Osd04 XXUE A 10,000
308 XX HHSO0IA 4,320 14,400 210,080
01 AXNSMBLNEES 4,320 14,400 A 10,080
OdAMnEEIZ2OHl 29 4,320
HHCIHES & oY 2,903,174 2,121,550 781,624
= 1,634,544
Il 540,506
= 728,124
o 0l ns 40,000 40,000 0
307 QI12t0l A 40,000 40,000 0
02 ItAASE X 20,000 20,000 0
OO0lElol 4= g dog= W= 20,000
04 QIHHALE X 20,000 20,000 0
OOE= g 9 HeSHAEY 20,000
NEES - 4= XN LTI AHKIJ 1,658,855 1,247,154 411,701
= 1,207,983
L= 450,872
308 MXIHHMSOIA 1,654,955 1,004,298 650,657
= 1,207,983
& 446,972
01 UHXSHBLEXS 1,654,955 1,004,298 650,657
Oy =&3st 1366 2 195,960
= 152,640
= 43,320
O0ts HHEES XFHH 4,000
= 2,000
& 2,000
OE - =845 4 23 879,212
= 676,312
& 202,900
ONE - HE=AMEA 29(%H)
16,500,000 *137H 2= *30% 64,350
OB EZSUNNESAIE 288 X 311,737
= 256,725
& 55,012
OHEZS2AAEANE SAA BEx1S 16,746
= 12,876
& 3,870
OEEXANESAX MM 37,500
O04d.stw=Z=AT| ol &t ONESTOPKI A MEH 2 130,450
= 107,430
L= 23,020
OdH=ItE Oldicld s4 X3 15,000
403 XXM SA201H 3,900 242,856 A 238,956




SA AIIEE MR
HiM: s o
(== o o M

;

]HE =
el MRS Y

2 (&2 8
SA - HE . CR(B]H) - NBEAIY - HA2 Al OH &EIE Ho=2t
. (=] ! ° . [= Bl e =5 0:”/|l|'% Lsa
01 MXEMA=2E =R 3,900 11,900 A8,000
O4d 2=H3t 1366 HHIEZ 3,900
IHEEY - =0 S HE L XA 529,050 359,785 169,265
p] 429,100
= 99,950
308 AUXIHMSOIA 529,050 359,785 169,265
| 429,100
& 99,950
01 IXNSMBILNEES 529,050 359,785 169,265
OJME - 4=gdAX wEXZ ALY 187,000
ol 154,000
& 33,000
Oy - S=Z8UlohA XNIS3=s T2 ) 300,050
Il 247,100
& 52,950
OMNE - 4= Il Xkt 2 =Hl XA 42,000
| 28,000
& 14,000
A 0HOH I oH Kt 2 =X &AHS 44,663 39,525 5,138
= 36,782
= 7,881
308 MHXIHHMSOIA 44,663 39,525 5,138
= 36,782
= 7,881
01 AXSMBAEEXS 44,663 39,525 5,138
OADHOHIIoH R 2R X2 AL 44,663
= 36,782
& 7,881
SOHOHIIHH A ES R K& 351,039 303,613 47,426
= 267,491
= 83,548
308 MHXIHHMSOIA 298,539 281,713 16,826
= 232,491
= 66,048
01 AXNSMBAEEXZ 298,539 281,713 16,826
OXSOHOHTIGHA XIZRAAIE 29 187,040
= 154,033
& 33,007
OH&DHOHIIoH & Eh 23 85,200
= 56,800
= 28,400
O&OHOHIlIoH At OEE 29 26,299
= 21,658
= 4,641
403 XXM SA=201H 52,500 21,900 30,600
= 35,000




S B CPEPET R TE=PN
X XH - O;I/\—I: gt al
S Tt o

Sel: oo 2} (Srsl: &)
_ _ _ Muo
SN FB - S2A(3) - MEAY - BES 0 &t o4 i HRE2

< 17,500

01 RXSHMXZRE 52,500 21,900 30,600
OMDHONTIGHT XIRAIL Jls22 52,500
= 35,000
= 17,500

ZALHOE FHUHAY 100,288 0 100,288
= 100,288

403 XX SIS KH=0l & 100,288 0 100,288
= 100,288

01 RXSHI=EE 100,288 0 100,288
OJE - 4= WHOI& FH XY 100,268
= 100,268

OF &4 & OH ©1 AL ) & OF 2 TH K| 44,000 40,000 4,000
= 22,000
= 22,000

307 2I2H0|H 44,000 40,000 4,000
= 22,000
= 22,000

02 SIHFA B 44,000 40,000 4,000
OGS ZOHO! ASIEO] 20 X 44,000
= 22,000
= 22,000

IIHEASHOIFHLES LR S 135,279 90,473 44,806
p 111,406
= 23,873

308 XHXl EHHIS0IH 135,279 90,473 44,806
| 111,406
= 23,873

01 RXESHBARES 135,279 90,473 44,806
OZUo) 0104 BSAE 29 109,099
g 89,846
= 19,253
OJNBZ201g 2RLE SN AHDS 26,180
p 21,560
= 4,620

Cresst JI=0 CHEt X2 9,105,238 5,189,384 3,915,854
= 4,353,364
g 2,273,985
= 2,477,889

SEDIISNELS - NSNS 3,097,831 1,953,231 1,144,600
= 2,234,550
= 863,281

308 XHXl EHHIS0IH 3,097,831 1,953,231 1,144,600
= 2,234,550
= 863,281




SN

ISP ETPN

M HdsgEig & =X &2 AN
SHel: Crerst JbEO0I CHet K& (92
SN S(B) - NRAY - B2 O] &k o8 e =2
01 XS MBLEEXS 3,097,831 1,953,231 1,144,600
OMAS stR2IIE MEtE XA 583,962
Ost2 2= U= - nEHIXA 2,513,869
= 2,234,550
= 279,319
AZNEXNJEH 2SX& 780,076 454,125 325,951
2 600,056
L= 180,020
308 AUXIHHMSOIA 780,076 454,125 325,951
= 600,056
L= 180,020
01 HXSHBAEEXZ 780,076 454,125 325,951
OHZINEXNEHEYH 2EXR 608,346
= 467,956
= 140,390
OFAINE A2 A 171,730
= 132,100
& 39,630
OG22 tEX2dH 28X 979,200 536,500 442,700
Il 756,000
= 223,200
308 MHXIHHMSOIA 979,200 536,500 442,700
| 756,000
= 223,200
01 MHXSMBLEXS 979,200 536,500 442,700
OU23IEXNREH 298 A 497,700
| 441,000
= 56,700
OU23tE X2 HdH 2L XA (FI4) 126,000
OU23ItE S89 MUlA M3 184,860
| 163,800
L= 21,060
OLUEE AMEAAHEE X2 170,640
| 151,200
= 19,440
CEZ3aots SR IIAIY XI& 359,000 300,000 59,000
308 XHXIEHHISO0IE 359,000 300,000 59,000
01 AXNSMBLEEXS 359,000 300,000 59,000
OL23ts d=IHRIIALY 300,000
OLU=2sts Al®3g 228 T& 24,000
OLI23ts Agier o0 23| S 35,000
OOl =2 0IXI &AL 1,757,489 265,200 1,492,289
= 1,447,344
= 310, 145
308 MHXIHHMSOIA 1,757,489 265,200 1,492,289




SN OAIIER M
o o852y ©

ol Cherst D=0 it N (Eto: & e
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2

= 1,447,344
= 310,145

01 NXSHALEEZ 1,757,489 265,200 1,492,289
OO0l S 20IALY X 1,757,489
=2 1,447,344
= 310,145

23 EL 2 NS AN 2 1,843,267 1,433,654 409,613
| 1,517,985
< 325,282

308 XXl EHHIS O & 1,843,267 1,433,654 409,613
| 1,517,985
= 325,282

01 NXSHALLES 1,843,267 1,433,654 409,613
OLI23IIE YENSAY K& 1,843,267
| 1,517,985
= 325,282

ZOHOF IS Ol S S S X & 102,020 97,164 4,856
=2 71,414
= 30,606

307 12+0/ & 102,020 97, 164 4,85
2 71,414
= 30,606

02 QIAAMEE 102,020 97, 164 4,856
OFOHOIIIE OIS E XA AL 102,020
=2 71,414
= 30,606

HRQIIE =XAL 22 N 186,355 149,510 36,845

308 XXIEHHIS O & 186,355 149,510 36,845

01 NXESHAALES 186,355 149,510 36,845
OBt2RI= =2XAE 2¢ 161,635
OBLEIE SNALEAT HYHHS 6,000
OBSRIIS SNAL22T MM 6,720
O8RS SXNALRE 2ESSH] 12,000

AR0F BEMHIA I8t =5 124,319, 176 122,453,954 1,865,222
2 90,597,245
< 33,721,931

2RAE &5 537,323 864,645 £327,322
=2 358,215
= 179, 108

403 XX SHHIS X201 537,323 864,645 £327,322
2 358,215
= 179, 108

01 XtXISA X2 X 537,323 864,645 £327,322
EENERETE 537,323
2 358,215




SN AER D
B AsANY L =X BE W)
T

& R0 ESAHHIA JIE &5 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
| = 179,108
ool gdsisd 24 250,000 250,000 0
307 212t01& 250,000 250,000 0
05 2IIRAE S 250,000 250,000 0
ogolgdesz 24 250,000
2] S:AAMAMY X3 4,009,623 3,947,850 61,773
308 XX HHSOIH 4,009,623 3,947,850 61,773
01 MXEHINELS 4,009,623 3,947,850 61,773
Og=0t g - 2taldl K& 1,135,643
OO0t sgEs =24 XN 42,840
OU=23tE ZR0t 2adEsE N 367,200
OE=%Fd 294l XN&
500, 0003 »1JH 2+ 122 +30% 1,800
OESAMESALA M &H| 1,555,920
OCHXI W At 24| 30,0003 x2002! *60 L *20% 72,000
OQIAHI X & AlE Wb 62,000
OHEMNASE HUE=ES 86,976
O=sE E=sAE 234 X2 38,784
OWLHQ Hot 25 XA 39,960
OU=23t Alg oeold XIg 23 1,500
OEIINE ESAE BXWA X2 605,000
EFSAESAA ENS 170,000 113,500 56,500
= 85,000
o= 85,000
307 S12t0I& 170,000 113,500 56,500
= 85,000
& 85,000
05 GIZtRAEZ 170,000 113,500 56,500
OESAMEEAMNAL Ex1F 170,000
= 85,000
= 85,000
20 A XA 30,000 20,000 10,000
307 212t01& 30,000 20,000 10,000
04 QIHHALE X 30,000 20,000 10,000
OsE=E=s2 ¢ A 15,000
OR+=ESuM - w7 &5 It el 5,000
OsdEs0 stitsiz 10,000
SHESZEHYH 23 234,000 200,000 34,000
= 105,000
& 129,000
307 QI2t0IA 234,000 200,000 34,000
= 105,000




_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES O AFH 'oﬂ/'\_WH Hlws2
< 129,000
05 2I2rIEra 234,000 200,000 34,000
OZLUESIEMNH 29 210,000
= 105,000
[ 105,000
OESAA ZOj0} X)|gd T2 ey
800,000 * 1002 *30% 24,000
SEAS DDA 805,500 816,000 ~10,500
= 532,500
= 273,000
308 XXl EHXI S OIH 805,500 816,000 A10,500
= 532,500
= 273,000
01 AXESHBARES 805,500 816,000 ~10,500
OB SAIE DRI 745,500
= 532,500
[ 213,000
OSSAIS I X2 60,000
BEAL RS2 1,038,240 966,000 72,240
= 741,600
[ 296,640
308 KXl EHHISOI® 1,038,240 966,000 72,240
= 741,600
[ 296,640
01 HXESHBAEES 1,038,240 966,000 72,240
Oxte2 Y| 1,038,240
= 741,600
[ 296,640
BEAL AN 1,733,033 1,276,247 456,786
= 1,105,355
[ 627,678
403 TR SH S K20l & 1,733,033 1,276,247 456,786
= 1,105,355
[ 627,678
01 MHXISHRZLEE 1,733,033 1,276,247 456,786
2SN BN 1,658,033
= 1,105,355
[ 552,678
OSSN JIs2Y 75,000
BEESEHH A 29,600, 142 29,794,200 194,058
= 22,769,340
[ 6,830,802
308 XXl EHH SOI & 29,600, 142 29,794,200 194,058
= 22,769,340
= 6,830,802
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SN GAIIEEH
By OlasHY o =X 2E ®
ol A0 ERAMUIA JlY &

SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS
01 XS MBLEEXS 29,600, 142 29,794,200 A 194,058
OB MUIA(SAR - AR AL 212H4H]
sHE SE222Y) 29,600, 142
= 22,769,340
= 6,830,802
HSESZ X AL 44,493,672 64,670,775 N20,177,103
= 34,225,902
= 10,267,770
308 XX HHSOIA 44,493,672 64,670,775 220,177,103
= 34,225,902
= 10,267,770
01 MXSHBAEEXZ 44,493,672 64,670,775 220,177,103
Ot 0MMl tE B2 44,493,672
= 34,225,902
& 10,267,770
2I5NIOtE s 2 X & 9,381,632 9,869,548 N487,916
= 6,701,166
= 2,680,466
308 XX HHSOIA 9,381,632 9,869,548 A487,916
= 6,701,166
= 2,680,466
01 MXSHHIAEEXZ 9,381,632 9,869,548 A487,916
OB5AI0L BEEZ 9,381,632
= 6,701,166
L= 2,680,466
ZOHOIRAEES N 2,423,820 2,510,267 A86,447
= 1,731,300
& 692,520
308 XX HHSO0IA 2,423,820 2,510,267 A86,447
= 1,731,300
= 692,520
01 AXNHEMBLAEXS 2,423,820 2,510,267 A86,447
OFoL RaESEE 2,423,820
= 1,731,300
L= 692,520
SO B2 K& 5,131,609 5,068,382 63,227
= 3,665,435
T 1,466,174
308 NXIHHSOIE 5,131,609 5,068,382 63,227
= 3,665,435
= 1,466,174
01 AXNHMBLEXS 5,131,609 5,068,382 63,227
OFXH 0l B2 5,131,609
= 3,665,435
= 1,466,174
A& DlIoIE0ts SN 4,132,200 2,031,540 2,100,660




B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+

= 2,952,200
& 1,180,000

308 AUXIHHMSOIA 4,132,200 2,031,540 2,100,660
= 2,952,200
& 1,180,000

01 MXESMBLEXS 4,132,200 2,031,540 2,100,660
OA&0l0I80ts XA 4,132,200
= 2,952,200
& 1,180,000

HOotER &Z I 88,500 55,000 33,500
= 59,000
= 29,500

403 XX SHHSKA=201H 88,500 55,000 33,500
= 59,000
& 29,500

01 MXISMA2EX 88,500 55,000 33,500
OZoiot 28 Mo 88,500
= 59,000
& 29,500

SHEXNGSLAAEESMEIANS 154,700 0 154,700
= 127,400
= 27,300

403 XX SHMSA201H 154,700 0 154,700
= 127,400
& 27,300

01 MXIESMA2EX 154,700 0 154,700
OsHEXNS A2 ESAEIA A3 154,700
= 127,400
T 27,300

QIZHE Al SZd 270,000 0 270,000
= 180,000
= 90,000

403 TXIEMSK=01H 270,000 0 270,000
= 180,000
& 90,000

01 AXESMA=2E =R 270,000 0 270,000
OLUAEFAIL &Zd 270,000
= 180,000
& 90,000

eI 19,835, 182 0 19,835, 182
= 15,257,832
= 4,577,350

308 AXIHMSOIA 19,835, 182 0 19,835,182
= 15,257,832
== 4,577,350

01 AXNSMIBANEEXS 19,835, 182 0 19,835, 182
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SA HAIEERA
HE: HY2AAH (OIS

Eel: JI2ZHI(HEEFE R 2tA)

DA HB L CP(E) - HRAY - BAS 0il &t o S
e co=m s IR ° _I_ [= Bl e (] 04”:"%
01 =W 38,800 34,920
OCIEII=Z ez 38,800
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